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PUZZLEBOMB

Fill the grid with the numbers 1-35, using the clues given, so that each row
contains 7 numbers each with a different remainder when you divide by 7, and
each column contains 5 numbers each with a different remainder when you
divide by 5.
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MODOKU:
The numbers in each of the dotted regions add up to the indicated total. by @stecks

APIS
CLUES

APIS CLUES: devised by @apisclues.

1. He washed his hands, having made a mess
Here are five of spoilt petunia (7,6)
cryptic crossword
clues. You must

2. A lucky little card turned over by Count (7)

solve _*he clues, 3. Star chess player, one who was wrongly

then find the imprisoned (6,5)

connection between

the answers. 4. Leveler mixed up with a shadowy assassin
(3,6,6)

5. Spy emoticon at end of Orwell's first (6,6)

PUZZLEBOMB.co.uk: assembled by @stecks.



